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50a (-8 mwp) 2 5la (LIT NIVPY 25195 7175 N3P BD)

Note 1: our entire (short) chapter is devoted to one topic: the impact of any of the four possible actions that a 03’ may take.
Two of them are X718 and they are complete and irrevocable — o127 and 7375n. However, there are two 12297 P33 - 02
and 8» — that may have an absolute impact on the 721, such that any other action taken by another brother on that wife —
or any other action taken by the active brother on another wife — would be meaningless. On the other hand, these D237 may
not be absolute and if followed by a similar p23 on another wife or by another brother, it may be meaningful.

Note 2: all of the nyawn of the chapter are presented together at the beginning; however, we will only assay the first 7ywp as
the 87p1 in this section only deals with that — as each 8’110 follows the unfolding of the chapter, we will go back to the nywn
and present it there.

L. x mwn:2"’s rule — none of the mar-acts is meaningful if it has already been performed (see note)
a. Dissent (02p2n): the 2 123277 acts can be followed by a meaningful act, but not m12> or n¥'9)n
II. Clarifying general approach of 1327 — why v3 and nxn, as well as an act after nv10a nx’a are valid
a. vxsince vi is generally valid, if we don’t make v3 meaningful, people will assume:
i.  Just as: vxis invalid, n¥’Yn is also invalid, and they might have nx»a after n¥>on
b.  7pNp: since RN (:pW1TP) is valid, if we don’t make 9nxn meaningful, people will assume:
i.  Just as: anRn is invalid, nx’1 is also invalid and they might have a nx»a (with a different wife or brother)
after ;12” nxa
c. 759 anvz if nroa after V) — precaution against NR’1 after NYYN
i.  And if nnoa after anrn (to another wife), precaution against n&’a after nx»a (to another)
d. yet: n'90a nYoHn (after V3 or 1NRN) is final, and nothing afterwards is meaningful
i.  Reason: if it is V3 IR NYYN, why would we need a precaution for n¥’>n IR n¥HN
ii.  And:if it is 18N IR NRHN, as a precaution against NX?2 IR NPHN
1. But:in either case, a v3 is needed (to counter either 918N or Nx»1)
III. Explanations of 3’s position
a.  ~27 )M maintains that it is unclear if V3 and IR8n are impactful (to push away or effect pv11P)
i.  Therefore: if the 1%t V3 removes her from the np’1, the 2°¢ does nothing
1. And: if the 1st v3 does nothing, neither does the 2nd
ii. And: if the 1 1nxn makes a full y1p, the 2"d is meaningless
1. And: if the 1st 1xn does nothing, neither does the 2nd
(a) Challenge (»3a&): 3 (2:1 Rnaon) holds that V3 and RN are meaningful:
(i) After 1m0y is valid; even if after 1nxrm x>
(if) After vx nrn is valid, even if after on nxa
(iii) But if: R27's explanation is accurate, n®»a “in the middle” should trump all
1. Per:1mwn —n%nna nra renders all further acts meaningless
b.  »ax:»™M certainly holds that both are partially valid and va 9nxn don’t address the same “side
i.  Therefore: a vx after another v3 is meaningless, as it attempts to push the same “side”
1. And: the same can be said for 1nxn InNR RN
2. However: a 7nRn INR 01 or L} INR INRN are meaningful as they address different “sides”
3. And: 11171 hold that o'non set up v and Inxn as independent options for each brother
4. And: n9voa nR2 is stronger yet weaker than nxn
(a) Stronger: it is meaningful after 1mxn
(b) Weaker: va MR 1nRrn completely “captures” what the vx elided
(i) Yet: n91a nwa does not do so > nrn works afterwards
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